
1

Please keep this instruction sheet for future reference, 
as it contains important information.

Adult assembly is required.

Age: 1½ years - 5 years.

Weight Limit: 50 lbs. (23 kg).

Tools needed for assembly: Phillips Screwdriver, 
Hammer and Scrap Block of Wood (all not included).

73528

www.fisher-price.com



2

WARNING

To avoid serious injury:

• Adult supervision is required.
• Never use near cars and other motor vehicles, 

near streets, steps, sloped driveways, hills, 
roadways, alleys, swimming pool areas or 
other bodies of water.

• Always wear shoes or sneakers.
• Never allow more than one (1) rider.

Fasteners

All SHOWN ACTUAL SIZE 

#8 x 3" Screw  – 1

Cap Nut – 1*

Consumer Information

#10 x 3/4" Screw - 11

#8 x 3/4" Screw - 13

 *Note: For your convenience, an 
extra cap nut is included.

Note: Tighten and loosen the screws with a Phillips 
screwdriver. Do not over-tighten the screws.



3

Parts

Seat Pin

Seat

Handlebar

Handle Pin

Frame Cover

Handle Top

Handle Bottom

Base

2 Base/Handle Covers

Fork

Front Wheel 
Assembly

2 Fork Covers

4 Pedal Axle Covers

Straight Axle
2 Rear Wheels

Cap Nuts

2 Wheel Caps

Frame

Footrest

Note: The base/handle assembly 
can be attached to the trike in 
either the Ride-on Rocker (page 9) 
or Learn to Pedal (page 10) mode.

Parts not shown: Assembly 
Tool and Label.



4

Assembly

• Please save all packaging material until assembly is
complete to ensure that no parts are discarded.

• Please wipe each part with a clean, dry, cloth before 
assembling this product.

This product contains small parts in its 
unassembled state. Adult assembly is required.

1

Straight Axle

Rear Wheel 
Spoke Side Down

• Turn the frame upside down.
• Insert the straight axle assembly through the holes in the 

rear of the frame.
• Fit the wheel cap into the center of the wheel. Tap the 

wheel cap with a hammer to secure it to the wheel.

Frame

Wheel 
Cap Hole

Hole

Rear Wheel

Straight Axle

• Slide a rear wheel (spoke side down) onto the straight axle.

Bottom View

CAUTION

2



5

Assembly

• Fit the wheel cap into the center of the wheel. Tap the 
wheel cap with a hammer to secure it to the wheel.

• Set the frame assembly aside.

4

Wheel Cap

3

• Turn the frame on its side with the exposed end of the 
straight axle up.

• Place the assembled rear wheel on the scrap block 
of wood.

• Slide the other rear wheel (spoke side up) onto the end 
of the straight axle.

• Place a cap nut on the end of the straight axle.
• Place the assembly tool over the cap nut and tap it with 

a hammer. Gently pull the rear wheel up to be sure 
the cap nut is securely attached to the straight axle.

Cap Nut 

Straight Axle

Rear Wheel 
Spoke Side Up

Assembled 
Rear Wheel

Assembly Tool

Scrap Block 
of Wood

• Fit two pedal axle covers onto the pedal axle metal tabs. 
Make sure the metal tabs fit into the slot in each pedal 
axle cover.

• While holding the pedal axle covers on the pedal axle, 
insert the pedal axle into the hole in the center of the 
front wheel.

• Push the pedal axle covers into the center of the front 
wheel until they are flush with the surface of the 
front wheel.

• Repeat this procedure with the other two pedal axle 
covers on the other side of the front wheel assembly.

5

Pedal Axle 
Cover

Pedal Axle 
Cover

Metal Tab

Slot

Pedal Axle



6

Assembly

• Place the front wheel assembly between the fork arms 
so that the pedal axle fits into the groove at the bottom 
of each fork arm.

• Place a fork cover over the pedal axle on one fork arm.
• Insert two #10 x ¾" screws into the fork cover 

and tighten.
• Repeat this procedure to attach the other fork cover to 

the other fork arm, using the #10 x ¾" screws.

6

Fork Cover
Fork Arms

GroovePedal Axle

Front Wheel Assembly

Fisher-Price, Inc., a subsidiary of Mattel, Inc., East Aurora, NY 14052, U.S.A.  
©2008 Mattel, Inc. All Rights Reserved. ® and TM designate U.S. trademarks of Mattel, Inc.

• Turn the frame upright.
• Insert the fork post up through 

the hole in the frame neck. Make sure the fork is 
positioned so that the fork covers face the rear wheels.

• Place the handlebar over the fork post and push it down 
onto the frame. Make sure the handlebar is positioned so 
that the screw hole faces the rear wheels and aligns with 
the screw hole in the fork post.

• Insert the #8 x 3" screw through the hole in the handlebar 
and into the fork post so that part of the screw (about ¾") 
is still visible. Tighten the screw.

7

Handlebar

Frame Neck

Fork Covers

Fork Post

PRINTED IN MEXICO     73528c-0920 

FIRST, insert the screw 

so that ¾" is visible. 

THEN, tighten the screw.

¾"



7

• Insert the knobbed end of the foot-
rest up through the opening in the 
underside, center of the frame    .

• Rotate the footrest ¼ turn    .
• Slide the footrest toward the 

handlebar as far as it will go until 
the top of the footrest is 
positioned over the opening’s rectangular cut-out.

• Lower the knobbed end of the footrest into the rectangular 
cut-out in the frame    .

Assembly

8

Frame Opening

Footrest 

Knobbed End
Footrest

Top View

Knobbed End

• Place the frame cover over the frame opening. Make 
sure the holes in the frame cover align with the holes 
on the frame.

• Insert three #10 x ¾" screws into the frame cover 
and tighten.

9

Frame Cover

• Place the seat on the seat mount.
• Adjust the seat for your child’s comfort by aligning the hole 

in the seat with one of the seat mount adjustment holes.

10
Seat Mount Adjustment Holes

Seat

Seat Mount

2

➥

➥

3

➥

1

2

3

1



8

Assembly

• While pushing down on the seat, insert the seat pin 
through the hole in the seat and into a seat mount 
adjustment hole.

11
Seat Pin

• Insert 13 - #8 x ¾" screws into the handle top 
and tighten.

13

• Place the base/handle assembly on a flat surface so that 
the wheel retainers are upright.

• Fit the trike onto the base/handle assembly so that the 
rear frame rests in the grooves in the base and the front 
wheel fits between the wheel retainers in the base/handle.

14

Wheel 
Retainers

Base/Handle

Grooves

• Fit the handle top and bottom to the end of the base, 
as shown.

12

Handle Top

Base

Handle Bottom



9

Ride-on Rocker

• Insert the base/handle pin through one wheel retainer, 
a hole in the front wheel and into the other wheel retainer.

• Push the handle pin to “snap” it into place. Pull on the 
handle pin to be sure it is secure.

Wheel Retainer

Front Wheel

Wheel Retainer

Base/Handle Pin

IMPORTANT! Be sure to adjust the seat in the most 
forward position for Ride-on Rocker mode.

Label Application

Handle

Place Center 
of Label Here

Center of Label

Assembly

15
Base/Handle

Flared End
Handle 
Cover

Trike

• Position the base/handle covers so that the flared end 
faces the front of the trike.

• Fit the base/handle covers onto the trike rear frame near 
the rear wheels.

• Insert two #10 x ¾" screws into each base/handle cover 
and tighten.

Assembly is now complete.

• Before applying the label, wipe the surface of the 
handle with a clean, dry cloth to remove any dust or oils.

• Remove the backing from the label.
• First, position the center of the label on the handle, 

as shown. Then, smooth each end of the label outward 
to attach it to the handle.

• For best results, avoid repositioning a label once it has 
been applied to the handle.



10

3

2

Base/Handle

• Insert the handle pin through one side of the base/handle, 
through the holes in the back of the frame and out through 
the hole in the other side of the base/handle. Make sure 
the handle pin “snaps” into place.

• Pull on the handle pin to be sure it is secure.

Base/Handle

• Rotate the base/handle to the upright position.

Handle Pin

Learn to Pedal TrikeLearn to Pedal Trike

• If you are converting from the ride-on rocker mode, remove 
the handle pin from the wheel retainers and front wheel.

1
Wheel Retainer

Front Wheel

Wheel Retainer

Handle Pin



11

Pedal Trike

2

Base/Handle

• Rotate the base/handle down, under the trike, to the 
ride-on rocker position.

1 Base/Handle

• If you are converting from the learn to pedal trike mode, 
remove the handle pin from the base/handle and the back 
of the frame.

Handle Pin



12

Storage

Maintenance

• Check plastic parts regularly and if broken or cracked, 
dispose of them properly.

• Check all fasteners regularly to be sure they are tight. If 
the fasteners are not tight, tighten them as necessary.

• To clean this product, use a mild soap and water solution 
and a clean cloth. Rinse clean with water to remove 
soap residue.

Helpful Hint: To store for future use, position the handle 
covers with the flared end upright and attach them to the 
handle using the four screws. Insert the handle pin into 
either the holes in the base/handle or through the holes 
in the retainers. Store the base/handle in a safe place for 
future use as a ride-on rocker or learn to pedal trike.

Handle Cover
Handle Pin

Handle Cover

• Rotate the footrest up toward the rear wheels and snap it 
into the recess in the underside of the frame.

4

Pedal Trike

Flared End

3
Base/Handle 

Base/Handle Cover

• Remove the screws from the base/handle covers.
• Remove the base/handle covers.
• Remove the base/handle.

IMPORTANT! It is a good practice to start training 
children very young regarding the importance of helmet 
use. When children are older and riding bicycles and 
faster vehicles, it is important that they use a helmet 
each and every time they ride. For this reason, even 
while riding a tricycle, it is a good idea to familiarize 
your child with helmet use, so that it becomes a habit
for life. Choose a helmet that complies with requirements 
of the applicable certifying agency for bicycle helmets.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings false
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 800
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Subsample
  /MonoImageResolution 800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /FlateEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /ENU (Create PDF documents for approval with images at 150 dpi and high image quality.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


